Orden de Operaciones (J)
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Realice las operaciones en el orden correcto.

8 3 9 2 11 6 . 1

7 Bxdx (Y- ) 12 1% (34+) x4
8. 1+3 x4 x3 13. 2x 2+ (3+3)
9. Lx8x1ax3 14.%X%%X4

10§+ x ¥ x 15, 3+ () -
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Orden de Operaciones (J) Respuestas

Realice las operaciones en el orden correcto.

7.1 8 3)y._.9. 2 11,6 .1
+ZTE) 6. (§_§)X§Xﬁ 11. 1+m+ﬁ7ﬁ
—15_ 4z —8l _gl
=35 =13 =10 — °70

5.5 12 4 11 _ 7 11y 4
X5—3) 7. 1 x5 (5 —10) 12 1x (3+3) x3
—313 2452 _ 10
=573 I 4Tl 21

3y . (9 _ 3,112 12. (9.5
1)+ (s-1) 8. 1+7x3x3 13.2x 7+ (3+3)
—ls =17 _ 55 =2

~ “T6 ~— %6  “6 21
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2_1? 9. W0 x 1253 14, 10 3274
53°_ I3 — 34 _ 104 —6_11
20 — <2 5 5 — 35— 13

11, 11 6 3,9 (10,5 7T.(1 1y _1
X(m_'_ﬁ)_g 1O'S—J’_610><276><3 15~4-(4+2) i
19 — 2 _ 926 _25_ 9l
30 35 35 2 12
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